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el = sin cos tan

40 0.6428 | 0.7660 | 0.8391

50 0.7660 | 0.6428 | 1.1918
D 6.428m @ 7.660m ® 8.391m
@ 11.918m (@)14.088m

BC = 10sin50° = 10 x 0.7660 = 7.660( m)
AB = 10cos50° = 10 x 0.6428 = 6.428( m)
kA LHR9] 20]= 7.660 + 6.428 = 14.088(m) ©]t}.
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AH = AD cos60° =6
DH = AD sin60° = 63
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BD = VBHZ2 + DH?
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ABCD 9|4 /B =30°, AD = DC ¢ T, bABCD 9] Y o]&?

@ 6+2v3 ® 8+2V3
@)s+4+3 ® 9+3v3
Z4 0014 @ C Dol B2HS 10|

OA =0D = OC, AD = CD = AAOD = ACOD(SSS &%)
/AOC = 60° |22 /AOD = /COD = 30°
OABCD 9] Y o]= AAOD + aCOD + ABOC

AAOD:ACOD:%x4x4><sin30°:4,ABOC:%x4x

4 x sin(180° — 120°) = 4 V3
whebA oABCD O] Wol=4+4+4V3=8+4v3 oJt}




